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Y01. 

902. 

T03. 

Y04. 

T05. 

906. 

T07. 

() 

() 

() 

() 

() 

() 

() 

() 

() 

(a) 

() 

() 

() 

ftYrhftT 

3T|T 

() 

(a) 

(a) 

() 

() 

() 

(a) 

() 

(a) 

(a) 

(a) yoa 

() 

() 

(a) 

[1) 



TO8. 

TO9. 

(+) 

() 

() 

() 

() 

() 

() 

(#) 

() 

(ar) 

() 

(b) 

1500 30 

(c) 

1000 $0 

(d) 

1955 30 

1965 $0 

(a) 

(a) 

() geqrtgar 

() 

(a) 

IfI were you, I 

() 

(a) ought 

(a) 

(a) 

(a) 

(a) 

(a) 

(a) 
Q.14. Choose the grammatically correct sentence: 

(a) Both Hari and I don't like horror films. 

1200 $0 

1800 so 

1960 so 

Both I and Hari don't like horror films. 

1970 30 

Both Hari and I don't liked horror films. 

Both I and Hari does not like horror films. 

Q.15. Choose the correct option to complete the given sentence: 

(b) 

[2] 

consider the job offer seriously. 
can 



(c) would 

Q.16. Which of the words is plural: 
(a) Index 

(c) 

Q.17. Choose the correctly spelt word: 

(a) 

(c) 

(a) 

(b) 

(c) 

(a) 

(c) 

Crisis 

(a) 

Q.18. Which of the following options is the clearest in meaning to the sentence below: 

(c) 

Coreander 

"She enjoyed herself immensely at the party" 

Coriandar 

(d) she had a terrifying time at the party. 

(c) 

Q: 

Q.19. Choose the correct synonym of the word 'RADIANT': 

R: 

Bright 

S: 

she had a terrible time at the party. 

Beautiful 

Q.21. Name the figure of speech in lines: 

she had a terrific time at the party. 
she had a horrible time at the party. 

Cafe 

(a) Simile 

Motel 

(d) must 

(b) Analysis 

(d) 

Q.20. A place which provides both boarding and lodging is: 

Hyperbole 

(b) 

P: After the colonel and his wife 

(d) 

'Belinda smiled and all the worlds was gay' 

the house stood empty 

had gone abroad 
for some years 

(b) 

(d) 

(b) 

(d) 

(3] 

Criteria 

(b) 

Coriander 

(d) 

Coreandar 

Q.22. Choose the correct sequence of the given parts to make a sentence: 

Light 
Influential 

Inn 

Restaurant 

Oxymoron 
Antithesis 



(a) 

(c) 

(a) 

He said to her, "Don't read so fast" 

(b) 

(c) 

(a) 

Q.23. Select the correct option to make indirect speech of the given sentence: 

(a) 

(c) 

(a) 

(c) 

Q.24. A three line rhyming stanza is called: 

(a) 

(c) 

QPSR 

SPRQ 

Q.25. 'Paradise Regained' is written by 

(a) 

(c) 

(a) 

He advised don't read so fast 

(c) 

He told her not to read so fast 

'A snake in the grass' 

He requested her not to read so fast 

(a) 

He ordered her not to read so fast 

Tercet 

(c) 

heroic couplet 

John Keats 

Milton 

secret enemy 

unrecognizable danger 

Q.28. The young one of 'swan' is: 

Q.26. Choose the option which best expresses the meaning of the given idiom/phrase: 

Crow 

(b) 

Q.27. The specific word for the cry of pigeons is: 

Chirp 

(d) 

Kitten 

Cygnet 

The police must know 

Where he is living 

(b) 

Where he has been living 

(d) 

(b) 

(d) 

(b) 

(d) 

(b) 

(d) 

(b) 

(a) 

PSQR 

(b) 

QSPR 

(d) 

[4] 

triolet 

ottava rima 

Dryden 

Spenser 

Q.29. Complete the sentence with the suitable noun clause: 

unforeseen happening 
irreliable person 

Coo 

Croak 

chicken 

fawn 

Where he was living 
None of above 



Q.30. Which of the following is not Regular structure of Disaster management of 
India: 

(a) DDMA 

(c) MDMA 

() DDMA 

() MDMA 

Q.31. National space day' is celebrated on: 
(a) 

(c) 

(#) 

() 

(c) 

() 

Q.32. India's National tree is: 

() 

(a) Mango Tree 

(a) 

(c) 

23 July 

() 

21 July 

() 

23 gI 

Q.33. Average density of the earth: 

21 g 

(a) 

Banyan Tree 

does not depend on g 

(b) NDMA 

g HAut ata 

(d) SDMA 

(a) NDMA 

(E) 

(b) 

(d) 

(a) 

(E) 

(b) 

(d) 

(u) 

() 

(b) 

is directly proportional to g (d) 

() 

(a) 

SDMA 

23 August 

(5] 

21 August 

23 34| 

21 34|i 

Pipal Tree 

Banana Tree 

is a complex function ofg 
is inversely proportional to g 

g 
Q.34. Out of the following pair, which one does not have identical dimension: 

angular momentum and plank's constant 

qchHIqYt 



(b) 

(c) 

(d) 

(*) 

() 

() 

() 

(a) 

(c) 

Q.35. A car starting from rest accelerates at the ratef through a distance s then continues 
at constant speed for time tand then decelerates at the rate f/2 to come to rest. Iftotal 
distance travelled in 15 sec then: 

() 

() 

(a) 

(c) 

YO36. ya 

Impulse and momentum 

(#) 

moment of Inertia and moment of a force 

work and torque 

Q.36. Ifradius of 

(a) 

(c) 

S=ft 

will be nearly: 

27 
13 

s= 
1 

S=ft 

S= 
1 

27 

6 Fermi 

4 Fermi 

6 5+f 

2s'y 

(b) 

(d) 

2y/s? 

(a) 

() 

13 Al nucleus is estimated to be 3.6 Fermi then the radius nucleusle 

(a) 8 f () 

(b) 

(d) 

None of these 

S 

[6] 

1 

(b) 

(d) 

6 

O.37. If S is stress and Y is young's modulus of material of a wire, the energy stored in 
wire per unit volume is : 

4 5+ff 

s²/2y 

8 Fermi 

s/2y 

5 Fermi 

() 5 54ff 



(#) 2sy 
() 2y/s? 

(a) 

(c) 

() 

Q.38. Aparticle of mass 0.3 kg is subjected to a force F=-Kx with K = 15N Im. What 
will be its initial acceleration ifit is released from a point 20cm away from origin: 

() 

(a) 

(c) 

3m/ sec? 

(a) 

Sm/sec' 

(c) 

3m/sec? 

() 

Sm/sec? 

(a) 10 

() 

(T) 250 

10 

Q.40. Aparticle is moving with velocity 
general equation for its path is: 

250 

Q.39. A thin glass (refractive index 1.57 lens has optical power of -50 in air. Its optical 
power in a liquid medium with refractive index 1.6will be : 

Xy = constant 

y=xtconstant 

Xy = constant 

(a) 

y=x 

() 

+ constant 

(b) 

(d) 

(a) 

(a) 

(b) 

(d) 

(a) 

() 

(b) 

(d) 

s'/2y 

() 

s/2y 

(a) 

[7] 

1 5m/sec? 

10m/sec? 

15m/sec? 

10m/sec? 

= k(vi + xË) where k is constant. The 

-10 

None ofthese 

-10 

y'=xto + constant 

y´=xt constant 

2 y´=xt constant 

y´=xtconstant 



Q.41. The dimension ofBulk modulus is : 

9041. 

(a) 

(c) 

() [MLT 

() [MLI 
Q.42. The permitivity of free space is: 

(c) 

(a) 6.65x10 F/m 

(*#) 

() 

(a) 

[MLTI 

(a) 

[MLT 

orbital? 

(a) 

(c) 

8.85x10"F/m 

() 

6.65x10 F/m 

8.85x10"F/m 

2 sin 

2 sin 

(b) 

() 

2 cos 

2cos 

Q.43. The upper halfof an inclined plane with inclination is perfectly smooth while the 
lower half is rough. A body starting from rest at the top will again come to rest at 
bottom ifthe coefficient of friction for the lower halfis given by: 

n=4,1-3, m=+4,s=+h 

(b) [MLT) 

n=4,1-3, m=+1, s=+% 

() n=4,l=3, m=+4,s=+% 

(d) 

(a) [MLT 

() 

(b) 

(d) 

(a) 

() 

(b) 

(d) 

(ML'T 

(a) 
n=4,l=3, m=+1,s=+% (a) 

[ML'T 

[8] 

8.85x10F/m 

6.65x100°F/m 

Q.44. Which of the following sets of quantum numbers is correct for an electron in 4t 

8.85x10F/m 

6.65x10"F/m 

(c) 

() 

2 tan 

2 tan 

(d) 

(a) 

n=4,1=2, m=-2,s=+% 

n=4,l=4, m=-4,s=-½ 

n=4,l=2, m =-2,s=+½ 

tan 

n=4,1=4, m =-4,s=-½ 

tan 



Q.45. Which one of the following ions has the highest value ofionic radius? 

(a) 

() 

(a) 

(c) 

(a) 

() 

(a) 

(b) 

(c) 

(d) 

() 

(a) 

Li 

() 

Li 
+ 

(a) 

Magnetite 

Galena 

Q.46. Which one of the following ones is best concentrated by Froth-floation method: 

(b) 

2Cu 

(a) 

Q.47. Which reaction does not represent auto redox: 

2H,0, H,0 + 0, 

’ Cu� + Cu 

2H,0, ’ H,0 + 0, 
+2 

CH, 

CI 

F 

CI, + OH ’ CT + Cl0, + H,0 

2Cu ’ Cu+ Cu 

F 

Q.48. Most stable carbo cation is: 

(c) 

(NH,), Cr,0, ’ N,+ Cr,0, + 4H,0 

() 

CI, + OH ’ CT + CIO, + H,0 

(b) 

(b) 
(d) 

CH, 

() 

NO, 

(a) 

() (NH), Cr,0, ’ N, + Cr,0, + 4H,0 

o 

[9] 

o 2 

Malachite 

Cassiterite 

(c) 
CH, 

(d) 

OCH, 

() 

3+ 
B* 

3-4 

B 

(d) 
CH; 



(a) 

(a) 

(c) 

(a) 

(a) 

(c) 

(6) 

() 

CH) 

Q.49. Molar heat capacity of water in equilibrium with ice at constant pressure is : 

(T) 40.45 KJ K' Mol 

CI 

(c) 

Zero 

(a) 

(a) 

40.45 KJK'Mor 

Zero 

(c) 

(a) Stearic Acid 

Cannizzaro reaction 

CH, 

NO, 

Reimer-Tiemann reaction 

Q.50. Phenol on heating with alcoholic KOH and CHCI, undergoes: 

Propionic Acid 

(d) 

(b) Infinity 

(a) 

() 

Q.51. Which of the following is not a fatty acid: 

(b) 
(d) 

(a) 

(b) 

(a) 

(a) 

() 

(a) So, < P,0, < Sio,< Al,0, (b) 

Al,0,< Sio, < S0,< P,0, (d) 

CH, 

OCH, 

[10] 

Infinity 

75.48 KJ K' Mol 

75.48 KJK Mo 

Gattermann reaction 

Kolbe reaction 

Q.52. Among Al,0,, Sio,, P,0, and SO, the correct order ofacid strength is: 

Palmitic Acid 

() 

Phenyl Acetic Acid 

Al,0,< Si0, < P,0,< S0, 

CH, 

Sio,< SO,< Al,0,< P,0, 



TO52. Al,0,, Sio,, P,o, SO, 

(a) SO, < P0, < SiO,< Al,0, () 

(a) 

(1) Al,0,< Si0, < SO,< P,0, () 

Q.53. Which ofthe following liquid pairs shows a positive deviation from Raoult's Law? 

(c) 

() 

() 

() 1 

(b) 

(d) 

Q.55. Real National Income means: 

(r) 

(a) 

Water -Nitric Acid 

() 

1 

(E) 

Water-Hydrochloric Acid 

Q.54. How many 2° Carbons are there in 2, 2 dimethyl butane: 
(a) 

HO54. 2,2 SIgAfA ye fbà 2°c? 

(a) 

(c) 

3-fT 51 1ÉT 5H 

(b) 2 

(a) 2 

(a) National Income at current prices 

(b) 

(c) National Income at constant prices 

(d) 

(a) 

V.R. Gil1 

(a) 

Sukumar Sen 

() 

National Income at factor prices 

(c) 3 

Al,0,< SiO, < P,0,< SO, 

Sio,< SO,< Al,0,< P,0, 

Q.56. Name of the First election Commissioner of India : 

National Income at Coverage price ofpast 1 0 year 

Acetone -Chloroform 

Benzene-Methanol 

(d) 

[11] 

(b) R.N. Shukla 

D. B. Mahawar 

(d) 

(a) 

0 



(*) 

() 

Q.57. Who invented 3D printer: 
(a) 

(c) 

to HTRo f 

() 

() 

Nick Holonyak 

TOS7. 3st fre ef: 
Chuck Hull 

() D 

Q.59. Complete it: 
0, 4, 18, 48, ......, 180 
(a) 58 

YO59. uf onfy: 

() 

() 58 

0, 4, 18, 48, ...., 180 

Q.58. A, B, C, D and E are five rivers. A is smaller than B but larger than E, C is the largest 
river and river D is smaller than B but larger than A then the smallest river is : 

(b) 

() 29530 

(a) D (b) 
HO58. A, B, C, D qT E qjg fi | A, B Et fE st, CHqH q å 

(a) 

C 

C 

(a) 

68 

(a) 

68 

(b) 

(d) 

(a) 

() 

(c) 

Sto to HaTqIR 

(c) 

Elias Howe 

Christian Huygens 

[12] 

A 

A 

84 

() 84 

() 24153 () 25413 

(d) 

() 

(d) 

() 
Q.60. If PALE is written as 2134, EARTHis written as 41590 then PEARLis written as : 

(a) 29530 (b) 24153 (c) 25413 

100 

(d) 

100 

25430 

41590 raT GTGII E 

(E) 25430 

gO60. fpi e HI9T PALE T 2134 feAT GIGI, EARTH 



Q.61. The most apparent change during the evolutionary history of Homo sapiens is 
traced in : 

(a) 

(b) 

(c) 

(d) 

() 

(a) 

(T) 

() 

(a) 

(c) 

() 

Q.62. Transport of food material in higher plants takes place through: 

() 

(b) 

(c) 

(d) 

Remarkable increase in the brains size 

() 

Loss ofbody hair 

following features: 

(a) 

Walking upright 

(a) Have gill slits at some stage 

(T) 

Shortening of the jaws 

(a) 

Sieve elements 

Transfusion cells 

Q.63. Crocodile and Penguin are similar to Whale and Dogfish in which one of the 

(b) 

(d) 

Possessbony skeleton 

(a) 

Companion cells 

(a) HEfIAIr 

Tracheids 

Possess a solid single stranded central nervous system 

Lay eggs and guard them till they hatch 

[13] 



Q.64. The Indian Rhinoceros is a natural inhabitant ofwhich one of the Indian states : (a) Assam 

(c) 

(a) 

() 

(c) 

(a) Ir 

(+) 

() 

(a) 

Uttar Pradesh 

Q.65. In Antirrhinum two plants with pink flowers were hybridized. The Fl plants produced red, pink and white flowers in the proportion of 1 red, 2 pink and I whhite,. What could be the genotype of the two plants used for hybridization? Red flowe 

(c) 

3TT4 

color is determinedby RR, and white byrr genes : 

(*) 
() 

(a) 

RR 

IT 

RR 

(b) 

Lymph vessels 

(d) 

Arteries 

(a) 

(a) 

organism and may kill it. 

(b) 

Q.66. Fastest distribution of some injectable material/medicine and with no risk of any kind can be achieved by injecting it into the: 

(d) 

(a) 

() 

(b) 

(d) 

Uttarakhand 

(a) 

Himachal Pradesh 

(a) 

Rr 

[14] 

Rr 

Q.67. Which one of the following is most appropriately defined? 

Muscles 

Veins 

Parasite is an organism which always lives inside the body of othe 



(b) 

YO68. 

(c) 

(d) 

() 

(a) 

() 

(a) 

(a) 

Q.68. Kranz anatomy is one of the characteristic of the leaves of: 

(c) 

(a) 

() 

(a) 

(b) 

Host is an organism which provides food to another organism. 

(c) 

Amensalism is a relationship in which one species is benefited whereas the 
other is unaffected. 

(d) 

Predator is an organism that catches and kills other organism for food. 

colleagues because : 

() 

Mustard 

Wheat 

(b) 

Q.69. The fruit fly Drosophila melanogaster was found to be very suitable for 
experimental verification of chromosomal theory of inheritance by Morgan and his 

(d) 

(a) 

(a) 

Potato 

It reproduces parthenogenetically 

Sugarcane 

It completes life cycle in about two weeks 

A single mating produces two young flies 

[15] 

Smaller female is easily recognizable from larger male 



() 

() 

() 
Q.70. Leguminous plants are able to fix atmospheric nitrogen through the process of symbiotic nitrogen fixation. Which one of the following statements is not corTeCt during this process ofnitrogen fixation? 

(a) 

(b) 

(c) 

(d) 

() 

(a) 

() 

(e) 

(a) 

(b) 

Q.71. Which one of the following cannot be used for preparation of vaccines against 

(c) 

plague? 

(d) 

Nitrogenase is insensitive to oxygen 

() 

Leghaemoglobin scavenges oxygen and is pinkish in colour 

(a) 

Nodules act as sites of nitrogen fixation 

The enzyme nitrogenase catalyses the conversion of atmospheric N),. 
NH, 

Heat-Killed suspensions of virulent bacteria 

Formalin-inactivatd suspensions of virulent bacteria 
A virulent live bacteria 

Synthetic Capsular polysaccharide material 

[16] 



(a) 

Q.72. One ofthe commonly used plant growth hormone in tea plantations is : 

YO72. 

(a) 

(c) 

() 

() 

(a) 

(c) 

(*) 

() 

(c) 

Q.73. Inwhich language are the largest number of newspaper published: 

() 

() 

Indole-3-acetic acid 

(a) National Highway No.1 

(a) 

Abscisic acid 

(c) 

Fsl-3-yfrfeo 

() 

() 

Hindi 

Sanskrit 

Q.74. The historical Sher-Shah Suri Marg is called: 

National Highway No.3 

Ig IHrÍ O 3 

512 

(b) 

552 

(d) 

512 

(a) 

552 

Q.75. The number ofmembers in Lok-Sabha: 

(b) English 

(d) Bengali 

(a) 

(3) t 

(b) 

(d) 

(a) 

Ethylene 

(b) 

Zeatin 

(d) 

(a) 

[17] 

National Highway No.2 

National Highway No.4 

542 

532 

542 

(a) 532 



Q.76. Largest state of India is : 

9076. 

(a) 

(c) 

(6) 

() 

(c) 

(a) Javier More 

() 

() 

Q.77. The famous Book"Two years Eightmonths and Twenty-Eight Night' iswrittenby: 

(a) 

Uttar Pradesh 

(a) 5 

(c) 

Rajasthan 

(a) 

() 

() 
Q.79. VWhich one is not related to 'Cricket'? 

Salman Rushdie 

(a) 

(+) 

Q.78. Number ofplayers in 'Kabaddi' game: 

5 

Ashes cup 
Asia cup 

(b) 

6 

Q.80. How many 'Ocean' are on the earth? 

6 

(a) 

6 

(b) 

(u) 

6 

(b) 

(d) 

9 

() 

(a) 

(b) 

(d) 

(a) 

(E) 

(b) 

(d) 

() 

(E) 

Maharastra 

[18] 

Madhya Pradesh 

Ruskin Bond 

Meira Kumar 

(c) 

() 

7 

Thomas cup 

(c) 

7 

Singer cup 

() 

5 

5 

(d) 

() 

(d) 

() 

4 

4 



Q.81. Let A, A,, Aj, .. 

A,A, AA, AA 
(a) 5 

HO81. 4td A, A, Aj 
n T HTH 

() 

(a) 

H084. 

(c) 

1 

(a) 

(c) 

line 3x ty-3=0 is: 

(a) 

(6) 

5 

1 

cl00 

I, 1. 1 

10 

HO82. y# gi oT HoU Gt f1, 2) 3tr (3, 4) 

Q.83. If t=e and y=t-1 then 

2e? 

Q.84. Evaluate 

Q.82. The equation of circle passing through the points (1, 2) and (3,4) and touching the 

T: 

ther 

xty- 8x-2y -7=0 

1 

(a) 45 

x+y-8x + 2y-7=0 

2e2 

then the value of n is: 

x+y - &x - 2y -7= 0 

(b) 

*+y' -&r+ 2y -7 =0 

(o) 45 

(a) 

9O83. yt t=e 3R y=t-1 gG 

cl00 

Anbe the vertices ofon n side regular polygon such that 

J10 

(a) V21 

6 

(b) 

6 

(a) 

dx 

{x-[x]}dx: 

dy 

(a) 90 

2 

1 

2 

(b) 90 

1 

2 

then the value of |(�xb) xë| is: 

(b) 

(b)V21 

(d) 

(b) 

(d) 
is: 

dx 

dy ),-\ 

(c) 

() 

[19] 

7 

7 

(c) 

aT: 

x+y'+ 8x-2y + 7=0 

() 

x+y'�8x-2y + 7=0 

(c) 

BN II eT ReT 3x +y-3 =0 

*+y'+8x - 2y + 7=0 

1 

x+y-8r - 2y +7=0 

1 

2 

3 

(d) 

2 

100 

() 100 

A,A, AA, AA, 

(a) 8 

(c)V21 

1 

(a) 

() 

Q.83. If |�-b=1 and |� + b|= /3. If ë beavector such that -a-26=3äxh 

(a) 

(d) 

2e 

2e 

() 50 

50 

4 L21 



3�xb at J(�xb)x� | B: 

() 

(a) 

Q.86. If a line makes an angle of 4 

(*) 

(a) 

the angles that the line makes with positive direction of thez Axis is: 

YO87. COS 

Q.87. The value of 

() 

(a) 

(c) 

(a) 

V21 

() 

-1 

4 

(c) 

4 

() 

10t 
7 

sin cos 

10T 

7 

COS 

(- o0, - 2) 

(V5,5) 

(a) (2.v�) 

1/ 

(- c0, -2) 

1 

(5) 2.vo) 
1 

() 

-1 

sin 

(b) 

Sin coS 

;V21 

(a) ; 

(b) 

10 ß 

(a) 

2 

2 

Q.88. If 'Cr = ('-3). "Cr+1 then kbelongs to: 

-1 10ð 
sin 

3r 

7 

with the positive direction of each of ix and y axes, 

3r 

7 

7 
is equal to: 

(b) 

(d) 

(a) 

(e) 

(b) 

(d) 

(c) 

(a) 

() 

() 
(20] 

(c) 

() 

6 

(6.2) 

6 

4n 

5,2) 

7 

4T 

(2, + o) 

7 

(2, + o) 

Q.89. The line 2x +v6y = 2 touches the hyperbola x²-2y' =4. The point of contact is: 

(a) 

-6) 

fs, 2/6) 


-ä-26= 

.-6) 

(d) 

(a) 

(d) 

() 

3 

13r 

14 

13r 

14 



0.90. Ifa, b, c and d are positive andabcd= 1l then the minimum value of (1+a) (1 +b) 
(1 +c) (1td) is: 
(a) 

() 

Q.91. If 

(a) 

(c) 

gO90. t a, b, c 3R d gHF 3abcd =1 (1l+a) (1 + b) (1+ c) (1+ d) hT 

HO91. gf 

() 

() 

(a) 

(c) 

4 

X 

() 

4 

(a) 

Lim 

’ 0 

) 

1+÷+ 
X x 

a+R b-R 

Lim 

a -R b=2 

a b 

X’ 0 

a -R b+R 

a+R b=2 

Q.92. Solve for xeR: log, 

X 

a b 
1++ 

6 

(b) 

(a) 
2x 

e.3)u (10, o) 

() rtgA 

e.3)u V10, a) 

e,3)u Vi0,o) 
() (e.3)U F10,) 

Negation 
(c) Implication 

IO92. uf log-2 +logx+2 >log2 
6 

16 

=e then the value of a and b are: 

2x 

6 

16 

tlog,ra) 

(b) 

(d) 

(a) 

(a) 

(b) 
(d) 

(c) 

.logx+2 

(b) 

() 

() 

>log-2 log+2 

(a) 

(a) 

[21] 

8 

a=1 beR 

a=1 b=2 

a=1 beR 

a=1 b=2 

(a) 2,3)U (0, 0) 

Q.93. Which of the following symbols in Artificial Intelligence are logical symbols : 

6 

(2,3)U ((0, o) 

6 

() 2.3)U (0,co) 

(2,3) U ((0, o) 

(d) 32 

Conjunction 
All of these 

(a) 32 



Q.94. How does Artificial Intelligence agent inter acts with its environment? 
(a) 

(b) 

(c) 

(d) 

() 

(a) 

() 

() 

(c) 

() 

Q.95. Governor ofthe Union territory of Jammu and Kashmir: 

() 

(a) Arif Mohammad 

(a) 

(c) 

(*) 

() 

Using sensors and perceivers 

Q.96. Which Acid is present in 'Ghee' ? 

Using sensors only 

(a) 

Using perceivers only 

(b) 

None of these 

(d) 

Satpal Malik 

PalmiticAcid 

Both (a) and (b) 

Lala Lajpat Rai 

Bhagat Singh 
(c) Chandra Shekhar Azad 

(b) 

Bankim Chandra Chaterjee 

(d) 

(E) 

(b) 

(d) 

Q.97. The slogans "Vandey Mataram" was given by whom: 

() 

() 

Manoj Sinha 

[22] 

Piyush Goel 

Aeolic Acid 

None 



() 

(a) 

() 

() 
Q.98. In which year was the Indian wild life Act First implemented ? 

(a) 

(c) 

(*) 

() 

(a) 

(c) 

() 

(a) 

1965 

(c) 

1972 

() 

1965 

() aff 

() 

1972 

Q.99. Which among the following is not a variety ofpaddy crop? 
Barley 
Aman 

(b) 

Chilika 

(d) 

Dal 

() 

(a) 

Q.100. Which is the largest salt water lake in India? 

(b) 

(d) 

(a) 

() 

(b) 

(d) 

(a) 

() 

1970 

[23] 

1991 

1970 

1991 

Aus 

Boro 

Wular 

Tikartal 



NAME 

CATEGORY : Junior (J) 

Q01.OO 
Q02.OO 

AB C D 

Q05.OO 

Q07. 

Q08. 

Q03. OOO0 a28.OO00 
Q04. OC OO Q29. 

Q09. O 
Q10. O C 

Q06. O OO0 Q31. OC 

Q11. O 

ANSWER SHEET/ 3K yo 

Q12. O OC 
Q13.O 

Q14.O O 
Q15.OO 
Q16. 

Q26. 

Q21.O O 
Q22.O 
Q23. 

Q27.O 

Q24. OO 
Q25.O OC 

Q30. 

AB C D 

Q32. O 
Q33. 

Q34. O O 
Q35. 

O Q39. 

O Q36.O0 
Q37.OO 
Q38. O O 

Q46. 

Q47. 

O 

OC 

OO 

Middle (M) 

Q40. O 
Q41. OO O 

Q17.OO Q42. O 
Q18.OOOO Q43. OOOO Q68. 
Q19.OOO0 Q44. OOOO Q69. O 

Q51. OCOOO Q7 
Q52. O OO0 a77 

Q53. OOOO Q78. 
Q54. OOO0 Q79. 
Q55. 

) Q58. 
Q59. 

O00 Q60. O Q60. OOOO 
O Q61.OC 
O Q62. OC 

Q63.OO 

A BC D 

Q64. 

O Q79. OO 
O Q80. OO 

Q56.O OO0 Q81 Q81. OC 
Q57.OO0O Q82. 

Q65. 
Q66. 

Q67. O C 

ROLL NO. 

Q71. OO 
O Q72.OO 

Q76. 

Q77. 

Q83. 

Q85 
Q84. O O 

Q86. 

Q89. 

Q87. OC 
O Q88. O 

Q90. 

ABC D 

Senior (S) 

Q91.( 
Q92. 
Q93. 

Q94. C 
Q95. O C 
Q96. O 

Q97. O O 

O000O 

O Q48. OOOO Q73.OC Q98. 
Q49. OOOO Q74. O Q74.OOO0 Q99. OOOO 
Q50. OO0 a75. O000 Q1000OOO 

Q20. C O Q45. OO0C Q70 Q70. O ( 
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